[ PO#S MUST BE ON ALL PAPERWORK AND SHIPPING DOCUNEN o FUR IR 2 77— —

Order Qty. UOM

Uine Part Number/Rev/Description [l s i i
1.00EA

1

Line

BGSG114316-19W4-8 1/2x60 1/2
Bar Grating 19W4

Serrated Surface

Hot Dipped Galvanized

1-1/4 in x 3/16 in Bearing Bars
1-3/16 in c. c. Bearing Bars

4 in c. c. Cross Bars

8-1/2 in Width x 60 1/2in

Tag Material: GR6
ALL CUTS TO BE +/-1/4in TOLERANCE

1.00EA

Part Number/Rev/Description
BGSG114316-19W4-8 1/2x48 1/2
Bar Grating 19W4, Serrated Surface
Hot Dipped Galvanized

1-1/4 in x 3/16 in Bearing Bars
1-3/16 in c. c. Bearing Bars

4 in c. c. Cross Bars

8-1/2 in Width x 48 1/2in

Tag Material: GR2
ALL CUTS TO BE +/-1/4in TOLERANCE

e e S T R
4 Ao e Order Qty. UOM

NSNS LA

P.n Numborln‘!vlo__..ér,'pi'.‘on‘ -_ ".-,J A3 _..n:“‘-\‘];;-’ S N I P
BGSG114316-19W4-35 13/16

7.00EA

Bar Grating 19W4, Serrated Surface, Galvanized, 35-13/16 in Width x 48-1/2 in Span, 1-1/4 in x 3/16 in Bearing Bars,

1-3/16 in c. c. Bearing Bars, 4 in c. c. Cross Bars

Tag Material: GR1
ALL CUTS TO BE +/-1/4in TOLERANCE

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

Line

Line

Line

Line

Line
10

Part Number/Rev/Description Order Qty. UOM
BGSG114316-19W4-35 13/16 6.00EA
Bar Grating 19W4, Serrated Surface, Galvanized, 35-13/16 in Width x 48-1/2 in Span, 1-1/4 in x 3/16 in Bearing Bars,

1-3/16 in c. c. Bearing Bars, 4 in c. c. Cross Bars

Tag Material: GR3
ALL CUTS TO BE +/-1/4in TOLERANCE

Part Number/Rev/Description ’ : Order Qty. UOM
BGSG114316-19W4-35 13/16 7.00EA
Bar Grating 19W4, Serrated Surface, Galvanized, 35-13/16 in Width x 60-1/2 in Span, 1-1/4 in x 3/16 in Bearing Bars,

1-3/16 in c. c. Bearing Bars, 4 in c. c. Cross Bars

Tag Material: GRS
ALL CUTS TO BE +/-1/4in TOLERANCE

‘OrderQty, UOM

Part Number/Rev/Description R T
BGSG114316-19W4-35 13/16 - . 6.00EA

Bar Grating 19W4, Serrated Surface, Galvanized, 35-13/16 in Width x 70-1/2 in Span, 1-1/4 in x 3/16 in Bearing Bars,
1-3/16 in c. c. Bearing Bars, 4 in c. c. Cross Bars

Tag Material: GR4

ALL CUTS TO BE +/-1/4in TOLERANCE

Part NumberiReviDescription o G Gy UOM
GRATING SADDLE CLIP-GALV 115.00 EA

Grating Saddle Clip, Galvanized, for 1-3/16in Bearing Bar spacing. (Included fastener for each clip)
ALL CUTS TO BE +/-1/4in TOLERANCE

Part Number/ReviDescription Order Qty. UOM
DIAMOND-WASHER 24 00EA

Grip Strut Diamond Washer

ALL CUTS TO BE +/-1/4in TOLERANCE

Part Number/Rev/Description _ OrderQty. UOM
GripstrutTread-11 3/4x36-GALV 16.00 EA

Gripstrut 5-Diamond Tread, No Nosing, Regular Carrier Plates, 11 3/4in width, 2in height, 14 gauge Pre-Galvanized Steel,

Serrated w/ 36in Span
ALL CUTS TO BE +/-1/4in TOLERANCE

Part Number/Rev/Description . OrderQty. UOM
Gripstrut-11 3/4x36-GALV 6.00 EA
Gripstrut 5-Diamond, 11 3/4in width, 2in height, 14 gauge Pre-Galvanized Steel, Serrated w/ 36in Span

ALL CUTS TO BE +/-1/4in TOLERANCE

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

